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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, NOVEMBER 2015.
II YEAR — III SEMESTER

Major Paper V — CORPORATE ACCOUNTING
Time : 3 hours
                                                                                                      Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. What is meant by allotment of shares?

2. B Ltd forfeited 1000 equity shares of `10 each issued at a discount of 10% for the non-payment of the first call of `2 and final call of `3 per share. Show the necessary journal entries.
3. X Ltd forfeited 20 shares of `10 each on which `6 per share were paid. What amount will be transferred to capital reserve if out of these 8 shares are reissued as fully paid up on payment of `5.50 per share?

4. State the concept of redemption of shares.

5. Give journal entries in the books of company Ltd which redeems 1,00,000 9% preference shares of `10 each at par out of revenue profits.

6. B Ltd was incorporated on 1st May 1996 to purchase the running business of V Company with effect from 1st January 1996. The company obtained certificate of commencement of business on 24th August 1996. Calculate the time ratio, if the accounts were finalized on 31st December1996.

7. Find out cost of goods sold if opening stock-`75,000, closing stock- `95,000, carriage inwards `13, 115 and purchases `1,85,000.

8. Find out total employee benefit expenses if employer fringe `50,000, purchases `3,00,000, employee wages `70,000, Employee salaries `18,500 and workers bonus `10,500.
9. A firm earns a profit of `40,000 and has invested capital amounting `3,00,000. In the same class of business normal rate of earning is 10%. Calculate goodwill according to capitalization method.

10. Calculate Value per equity share under Net asset Value method. Total assets at market value `49,80,000, total outside liabilities `19,00,000 and `2,00,000 equity shares of `10 each 20,00,000.

11. What is internal reconstruction?
12. S Limited has been suffering heavy losses in the past. It has decided to go for reconstruction scheme by reducing 22,000 equity shares of `100 each to `50 each to write off accumulated losses of `10, 70,000. Find out the balance in capital reduction account.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Write a short note on forfeiture of shares.
14. G Ltd invited applications for 20,000 shares of `20 each. The amount payable on application `5, on allotment `8 and the balance when required. The whole of the above was applied for and cash was duly received. Give journal entries.

15. What is profit prior to incorporation? How do you treat it in accounts?
16. Calculate profit prior to incorporation:

Time ratio-1:2

Salesratio-1:3

Grossprofit-`1,70,500

Office expenses- `69,600

Selling expenses –`18,600

Preliminary expenses – `11,560.
17. Calculate time ratio for pre and post incorporation period:

Date of incorporation-1st June1999

Period of financial accounts – April 1999 to June 2000

Total wages `4,800

Number of workers-


Pre-incorporation period-5


Post incorporation period-25

Also divide the total wages between Pre-incorporation period and Post incorporation period.

18. The profits of T Limited are as follows for the last five years:

Year 1994--------
`15, 000

Year 1995--------
`18, 000

Year 1996--------
`22, 000

Year 1997--------
`25, 000

Year 1998--------
`27, 000


Calculate value of goodwill of T Limited on the basis of 4 years purchase of weighted average profit after assigning weights 1,2,3,4 and 5 respectively to the profits.

19. The share capital of Zea Limited consists of the following;

10,000 6% preference shares of `100 each

50,000 equity shares of `10 each
The shares were fully Paid. The Company had accumulated losses of totaling  `3,50,000 besides preliminary expenses `20,000. Fixed assets which stood in the books at `14,00,000 were overvalued to the extent of `4,00,000. The following scheme was adopted to write off the losses and reduce the assets.

a) 6% preference shares were to be converted into 7% preference shares of `60 each

b) Equity shares were to be reduced to `2 each. 
Journalize.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions
20. H Ltd was incorporated with a share capital if `12,00,000 in `10 shares. The company purchased machinery from X company for 6,00,000 payable in fully paid shares of the company. The directors also decided to allot 2000 shares credited as fully paid to the promoters for their services. The rest of the shares were issued for cash and were taken up by the public and fully paid for. Give journal entries and prepare the balance sheet.

21. Prepare the balance sheet as on 31st March 2000 from the following information of ABC Ltd,

Term loan





`12,00,000

Creditors





`11,45,000

Advances





`  3,72,000

Cash balances




`  2,75,000


Staff advances




`     55,000

Provision for tax




`  1,70,000

Securities premium



`  4,75,000

Loosetools




                  `    50,000

Investments




`  2,25,200

General reserve



                  ` 20,50,000

Capital work in progress  


`  2,00,000

Loss for the year



                   ` 3,00,000

Sundry debtors




`12,25,000

Miscellaneous expenses
 

`    58,000

Loan from Directors



`  2,00,000

Provision for doubtful debts

                  `    20,200

Stock





`  4,00,000

Fixed assets (W.D.V)



` 51,50,000

Finished goods




`  7,50,000

Additional informations:

(a) Share capital consists of 30,000 equity shares of `100 each fully paid up and 10,000, 10% pref. shares of `100 each fully paid up.
(b) Term loan is secured
(c) Depreciation on assets `5,00,000.
22. Average capital employed in K Ltd is `35,00,000 whereas net trading profits before tax for the last three years have been `14,75,000, `14,55,000 and `15,25,000. In these three years managing director was paid a salary of `10,000 p.m. But now he would be paid a salary of `12,000 p.m. Normal rate of return expected in the industry in which K ltd engaged is18%. Rate of tax is 50%. Calculate goodwill on the basis of three years purchase of the super profits.

23. Following series of losses XYZ Co., It was resolved to reduce its capital to 50,000 fully paid up `5 shares and to eliminate share premium account. The company’s  B/S prior to implementation of the scheme was:


Liabilities



      `

Assets


    `


50,000 fully paidup shares 
of  `10 each 


5,00,000
Goodwill

 

1,00,000



Securities premium
            50,000
land & Building

         1,62,000



Creditors


            62,000
Plant and Machinery      
2,07,000



Bank overdraft
   
            73,000
Stock


    
   92,000










Debtors


     
   74,000










Profit & Loss account           50,000








 6,85,000





  6,85,000



It was resolved to apply the sum available under the scheme:

(a) To write off the goodwill account.
(b) To write off the debit balance of Profit and Loss account.

(c) To reduce the book values of the assets by the following amount (i.e) Land & Building 42,000, Plant and Machinery  `67,000,  and Stock `33,600 respectively.
(d) To provide a bad debts reserve of 10% of the book value of the debtors.
Show the journal entries to give effect to the scheme and prepare the revised balance sheet after its implementation.
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